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sE& UE=d 554,480 624,428 NB9,948
= 63,060 111,008 AT ,948
& 110,244 119,244 29,000
fiis 381,176 394,176 A13,000
sHZGMNL 133,120 201,120 68,000
= 12,000 57,000 /45,000
< 13,684 22,684 29,000
2 107,436 21,436 A14,000
sHIHALE 20,000 88,000 68,000
= 12,000 57,000 A45,000
& 2,400 11,400 29,000
= 5,600 19,600 A 14,000
402 QI2EXHE01 A 20,000 88,000 68,000
= 12,000 57,000 /45,000
< 2,400 11,400 29,000
2 5,600 19,600 A14,000
01 2IZEA=AMEE X 20,000 88,000 268,000
O SAHSHSYXZAY  40,000,0002+50% 20,000 88,000 68,000
= 12,000 57,000 245,000
= 2,400 11,400 29,000
i 5,600 19,600 A 14,000
sgdd)|= 34,160 36,108 A1,948
= 10,660 13,608 A2,948
= 6,000 6,000 0
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B EEErEE! 10,000 0,000 0
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= 5,160 7,108 A1,948
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01 =2LHOYI 2,960 3,988 21,028
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= 6,000 0,000 4,000
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= 24,000 40,000 A16,000
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= 5,750 6,000 2250
= 8,250 8,000 250
202 (44| 5,000 5,000 0
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= 3,750 3,500 250
01 =LHO Y| 1,000 0 1,000
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i 3,000 3,500 A500
EQAXARA (U ASEHEI I=XR) 25,200 21,200 4,000
= 14,200 12,200 2,000
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= 15,200 351,848 A\336,648
< 116,260 217,255 A 100,99
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= 15,200 351,848 A336,648
< 116,260 217,255 100,995
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= 11,200 22,848 A11,648
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0201449 XG9=sEXEAY Edst X
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